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Scatter Plots and Lines of Best Fit Worksheet

B

1. MUSIC The scatter plot shows the number of CDs (in millions) that
were sold from 1999 to 2005. If the trend continued, about how 900 .19
many CDs were sold in 2006? 3 w0 N
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2. FAMILY The table below shows the predicted annual cost for
a middle income family to raise a child from birth until
adulthood. Draw a scatter plot and describe what relationship
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exists within the data. Cost of Raising a Child Born in 2003
Child's
Age

Annual
Cost (8}
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Annual Cost ($1000)
o

sk
(=]

10,700 | 11,700 | 12,600 | 15,000 | 16,700

w

<
There /s a positive association between o 2 s o 1o S

Age {years)
IPL redicted annpal cost of o cars to b€
childl's age and the Presicel Sru child. The associatizn afreees

approXim®
3. Make a scatter plot of the data in the table. Draw a line of best fit.

What is the of the line of best fit?
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4. EDUCATION The table at the right gives
the number of hours spent studying for a
science exam and the final exam grade.

a. Draw a scatter plot of the data and draw in the line of besft fit.

final
b. What is the equation for the line of best fit? jrade 90

;"z (7.048.. + 6,345 .x o v

70

Study Hours | 3 2 5 1 0 4 3
Grade 84 | 77 | 92 | 70 | 60 | 90 | 75

c. Predict the grade for a student who studied for é hours. L/

G()= 42.048..+6.3145 () = /

d. Could this line go on forever? Why or why noft:

/Vo) since for studying that /asted 6l 2 345°€ il
more than bjours’ the model predicts pnyeasonabl 5{ o )e'

high grades. For example, 3(8) % /12.5¢, and (hrs.)

most €xams have a top scere of only /00 or So.




Slope= Change in g when X Cﬁﬂmjes é/ +1 unit
= JI5 by Inspection
5. BASEBALL The scatter plot shows the average price of d major-league baseball ticket from 1997
to 2006.

a. Use the points (2001, 17.60) and (2002, 18.75) to write —
the slope-intercept form of equation for the line of fit o Baseball Ticket Prices
shown in the scatter plot. 4 o A/’
Lot Jomcrb When 1760, x <2000, metis |2 :
are ;- ?
s’ 1780= L15(000) b ) e bttt | £ LTI
/7.60 - /,/5(2001/ =} ) ;’;,ce(-t, not s1oP| & 14 ,‘/(
-2283.55=b L Z
Equation: @;/’-‘ —'2283‘551"/4’59 T ——
b. Use your equation to teHéhe price of a ticket in 2009. Is ¢t FRwR ‘?eg‘: a2 A5

this extrapolation or interpolation?
A (Zooq/ - o 2283‘5'5 + /. /5 (200?/ = #- 2é 3¢ Source: Team Marketing Report, Chicago
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6. DISEASE The table shows the number of cases of Foodborne _US. Foodborne Botulism Cases
Botulism in the United States for the years 2001 to 2005. z"“’ 22;” 2222 2323 2?24 2?25
ases 2 .
a. Draw a scatter plot and determine, what relationship, if . US. Foodb
any, exists in the data. roxzmafeI/ linear relationship v TORSIRE
. < ¢ and H of U.S. foodbo"  Botulism Cases
77¢ere /1S & ﬁeja'f' Ve, " petween yea botulism cases, 50 T
b. Draw a line of fit for the scatter plot, and write the slope- %#_L

intercept form of an equation for the line of fit. 30 \%g

@ 10840.4 — i@ | "] -

0 200F 2002 2003 2004 2005

where X = 7ea.f (YYYY -Forma:t)) j:pred:‘cted Hof

Year
ﬁ“’-borne éofulisn}f?jsé’g
Note: l)sinj YY format for year, eiua—‘h'O" would 6e .S,
7. ZOOS The table shows the average and maximum longevity of (/ i

Cases

various animals in captivity. ' bdngevity (years)
; . ’ ¥ Avg. |12 |25 |15 8 | 35|40 (41|20
a. Draw a scatter plot and determine, what relationship, if any, =
. . Max. | 47 |50 | 40| 20|70 |77 | 61| 54
exists in the data.

There is & positive and roughl [}aear

,—elw(’ionship between averajelon vity and maximum died. Animal Longevity (Vears)
80
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b. Draw a line of fit for tHe scdtter plot, and’write the slope- = ]
intercept form of an equation for the line of fit. - b |
. ¢ 4
[ = 2144578+ 1,2216...x B RESE:
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c. Predict the maximum longevity for an animal with an average )
longevity of 33 years. Is this an example of Extrapolation or s & VW

Average
Interpolation? A<33) -~ 22.*7573'{'/'22/‘(33)

> €276 gas)  (ntepolation)




